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BOOK-KEEPING & ACCOUNTANCY

(Hindi & English Versions)
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Instructions

(1)
(2)
(3)
(4)

(5)

All questions are compulsory.

Question Nos. 17, 18, 23, 24, 27, 28, 29 and 30 have Internal options.
Word limit 30 for Question Nos. 1 to 10 each.

Word limit 50 for Question Nos. 11 to 18 each.

Word limit 75 for Question Nos. 19 to 24 each.
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(2)
t6) Word limit 120 for Question Nos. 25 to 28 each,
{7) Word limit 150 for Question Nos. 29 and 30 each.
(8) No limits for Practical problems.

(9) Marks have been indicated against each question.

1. ®ENE 919 Ugfa = WiE fagmed =anu (FE 9 2

Mention the main characteristics of Diminishing Balance method. (Any two)

2. TTM F ‘g B A A o gasd £

Bed

What do you understand by ‘Normal Loss’ in consignment ?

fad

. Toty fomm o == 2 &

=

What is meant by Vidhi Milan ?

4. 99U W G MU WA W AT 40,000 % %, fEg 419w gem @ gem A 10% At
2| Ui e =1 A gem wm Em? 2

The cost price of goods sent on consignment is Rs. 40,000, but inveice price
is 10% above than cost. What will be the invoice price of the gonds sent on
eonsignment ?

5. WFRT e F@1 HFE ww0 7 2
What is Pakki Rokad Bahi ?

6. g YEIF Wgla § 1@ W4 Gl 5 AEvEE [EE F SaEE 2
Explain the two necessary books to be kept in Cash Book method.

7. WA= @ 9 %A 5el & qui e §7 2
What items are shown in Income and Expenditure Account ?

8. WEW "%e =Wel H fod WM 9@ o sF@enl & AW farEg |

I

Write the names of two transactions written in Khudra Nakal Bahi -

7—12—N—157A1
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12.

135

Xy ge ush W e wEms

=t

Explain the meaning of Fixed Capital method.

td

What is Equity Shares 7

a

SaHE W gegerd ¥ 599 foEd | (FIE 91)

(NH)

Write ohjects of depreciation in business. (Any three)

U9 =988 8 HA-F° 9 =4 @l 99 © ¢ (HE W)

Lad

What accounts are opened in the consignment transactions ? (only names)

WITH A S A9 999 EA-TET Jm w1 S 3 TEA 9ied ? 3

What points should be kept in mind while preparing Receipts and Payments
Account ?

. T wEE F A gAeEE § wiEd F oA 90 FAF S11003724 #2 1,000 T W 2

Ft = | faa fem ¥uvR 9 1,200 % W H2 ST S W 80 W AN F9 997 1,300 %
afs §e &1 5 § 20 92 SUR ¥ 1 3% 5% WA F64 (FAWA) a9 3% 9wy g6
Fa fa@a 9 5@ 9@ &1 §64 (FHNA) B T0E Fie | 3

Shri Ghanshyam of Ganj Basoda consigned 100 Radio sets @ Rs. 1,000 each to
Shri Bhupendra Kumar of Parasia. The consignee sold 80 sets on cash @ Rs,
1,200 and Rs. 20 on Credit @ Rs. 1,300 each, subject to a general commission

at 5% and 3% del-credere commission on total sale. Calculate Commission.

. 31 fewray, 2005 %7 99W 2 99 99 % d91 9faf == § HEfareg fFEm E o 3

Terrran fe=m 290 ®., =57 W4 1,000 %., f9H9m W == 400 %, HTEL 9 100 ¥,
TG =9 110 E

giafa & 979 &% 1,000 & @19 ©9 8% ®|U-TH £ | 31 oW =1 fFm & 210 =
9T TUE F 90 T, = I £

=99 =a F9EL |
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(4]
The following iz the information regarding Seva Samiti Newton [or the
year ended 31st December, 2005 -
Rent paid Rs. 2090, Subscription received Re. 1000, Interest on investment
Rs. 400, Sundry expenses Rs. 100, Printing expenses Rs. 110.
Samiti is keeping 10 bonds of 8% valuing Rs. 1,000 each. On 31st December
Rs. 210 for Rent and Rs. 90 for Printing expenses is outstanding.

Make Income and Expenditure Ale.

ﬁmﬁWﬂaﬁmwwmﬁmﬁmmﬁﬁfﬂmﬂﬁﬁmﬂﬁw 3

Explain the method of valuation of Goodwill an ‘Average Profit basis’ with
example.

T AT T AGFA IS 3,00,000 F E, S 100 T AR 1,000, 12% TJaEffermr v w5
10 % &t 20,000 FHaT Sut § Saifag £ o & 10,000 e S =7 it T
ﬁaﬂnﬂ{dm’hmﬁmaﬂﬂmﬁﬁmnmmwmhwﬂwmﬁm
Tl 1 TS 961 § aEvas 99 ghes it o
The authorised capital of a Company is Rs. 3.00.000 which is divided into
1,000, 12% preference Shares of Rs. 100 each and 20.000 Equity Shares of
Rs. 10 each out of these shares, 10,000 Equity shares are issued Tull amount

of these shares will be paid with application. All these shares were taken up and
paid by the Public.

(FF]

Pass the necessary Journal Entries in the books of the Company.
HIET (Or)
Explain Over-subscription with example.
1 ST, 2004 %1 Y’ @i IR wEw: 20,0005 s 30,000 . FI Y571 =9I HTeeR

¥ 9 fem Fig 3 Wi = 4,000 7 %1 Bw e | 39 94 = w9 5,240 ® ¥ wEgEh
A ® WS § we-w @ Fe 2
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(5)
On 1st January, 2004 ‘Nita’ and ‘Ranu’
Rs. 20,000 and Rs. 30,000 respectivel
firm of Rs. 4,000. The profit of that

In the absence of Partnership

are partners employing capital of
¥. On the same day Nitu gave a loan to the
yvear is Rs, 5,240,

agreement prepare Profit and Loss Account.
HEET (Or)
THEEA = 58 ey 50 HHEET |

What is Revaluation Account ? Explain,

9. TF FH F 20,000 E F v oy

ﬁ?ﬁwnﬁmﬂ%mrmmaﬁm

Wllﬂ%?ﬁﬁﬁﬁﬂﬂﬂﬁmmﬁﬁaﬁﬁﬁﬁm
ﬁ?ﬁaﬁmwla}-—ra’ﬁﬁm ?H?f?ETHﬁEFTgW

(31) 21 frva wafy ooy
(%) 92d gU 9w =7 wgfy 2 =TAARY |
= (gEED) = fememRy |

A Company purchased a mechinery

the machinery at the rate of 10%
machinery after three years

for Rs. 20,000. I+ was decided to depreciate
per annum. Show the Book-valye of the
by using :

(a) Fixed Instalment method

(b) Diminishing Balance methad.

Show by means of Tabular Ledger Aceount,

(1) 10,000 % 95 7 = =

(i) 7] 5 600 % F1 " whe sy o 100 = =T Qam T
(i) 9T 1 700 % 7 T S 3ty <5 300 & T e
{(iv) & =1 877 fe1 1,000 =,
From the following particulars

prepare Kachchi Rokad Bahij of Pintu :
(i) Started busines

s with a Capital of Rs. 10,000.
(ii) Goods purchased from Rajju for Rs.

(i11) Goods sold to Bhopu for Rs. 700 and
(iv) Paid for salary Rs. 1,000 to Veenu,

600 and paid to him cash Rs. 100,
received Cash from him Rs. 300.

—12—M—157A1
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21. YqTHEA §9 TE wiaeE w0
(i) g7 3T waT = ge= 14,000 © | T3 90|
(ii) =19 10,000 %, 4 =9 4 | 4
Give journal entries for Revaluation -
(i) The value of Land and Building is to be appreciated by Rs. 14,000.
(ii) Being liabilities decreased by Rs. 10.000.

22, Froe WRER =1 T3 Ofm F ogmmm w1 w5 owsiE v o faew e o ow
AT | 4

Name the methods of making payment of the balance amount due to the retiring
partner. Explain any one.

23. {4 TfHEE 3 10 % A 10,000 SEW W 0% 9% W Fnifad fEw sees w4 %
UH U9 AE=A W OSE 9w W el § siavas eeme) et HITAT | T
Tferal A w9a W B TE ¥ 4
Narendra Limited issued 10,000 Equity shares of Rs. 10 each at a discount of
10%. Payble Rs. 4 on application and the balance on allotment. Pass Necessary

Journal entries in the books of the Company. All the amount due were duly
received.

=41 (Or)
A9 TE WMO-T9 § 3= TN mEu (F5E 91)

Explain the difference between Shares and Debentures. {Any four)

24, A 0 E T 31 TeEE, 2006 T 39S SEOE 5 T 5O = g e, 3w fafy 3 ===
oz = o1 .

[ m ~ i

Bpt %, E i o 7.
[GEEAE 10,000 IEE 2,000
A = 18,000 TIEHE . 13,000
CEIREEI fafay omfasi 68,000
A 20,000 =i 5,000

B 40,000 60,000
88,000 88,000
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wEmE 457 F sEm d AT fEated w40 € 1 =l 9 6,000 T AHe g, AFEH
F7 5% FEE W ogmEE G T fefag meteEl | 63,000 FOFHO U AT H
8,000 % =HA BU| WHWS FI @FE 500 ® B2

FYA! EA FAE | 4

A and B decided to dessolve their business on 31st December, 2006 on that date
their Balance Sheet stood asz follows :

Liabilities Rs. Assets Rs.
Creditors 10,000 Cash 2,000
A’s Loan 18,000 Debtors 13.000
Capital Alc Sundry Assets 68,000
A 20,000 Goodwill 5,000
B 40.000 60,000
88.000 88,000

Partners sharing Profits and Losses in the ratio of Capital. Goodwill realised
Rs. 6,000, Creditors paid off at 5% discount Sundry Assets realised Rs. 63,000.
Debtors realized Rs. 8,000 Cost of dissolution amounted to Rs. 500.

Prepare Realisation Account.
Hg4ar (Or)
wH F GEYH % [9reE =1 949 § SEHE |

Explain in brief the methods of dissolution of a firm.

[ o)
(¥

. FEe H 7,000 F eF F AU Tiee W1 A ¥ AR 39 W i@ FFow i = o
% 1,000 T, ¥ HIA T WRG 500 & S Fw 0T THT AW g A E | FE HEOW
T 8,400 €. § A9 =a1 &) YUUT FT 4% THE SHA 797 2% I0E0E FAE £ [GE5
7 foeen &1 wifee, 9ew =1 fawa TG 3 ¥m ofg =1 3% 999 2

U990 = §9ET | 5
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Patel sends out a consignment of the value of Rs. 7,000 to Shahid and pays
Rs. 1,000 for freight and insurance etc. Shahid clears the goods paying Rs. 500
for duty ete. He sells the whole lot for Rs. 8,400. The consignee gets 4% general
commission and 2% del-credere commission on total Sales, Shahid sends out an
Account Sales and cheque for the balance to Patel.

Prepare Consignment Account.

26. m—wmﬁﬁm—maﬁﬁmmm%uaﬁéﬁm 5
Distinguish hetween Receipts-Payments Account and Income-Expenditure Account.
{Any five)

27. 49 =gEEr] &1 9@ %@ =@ 4 [aigy 5
23 TS, 2005, Thdt S9mE HE 11, Haq 2062 foF gEER|

(i) Y9 Fuw =1 377 96 Se 20, 100 % giq SSI1 TWEal 20 Wi, 30

qiq HiEl |
(i) TSR FAR A : TR 30 HiE, T 40 T wha HiEt| weha 40 =i, 50+
g Hizt |

Prepare Nam Nakal Bahi from the following transactions :
29nd May. 2005, Miti Baishakh Sudi 11, Samvat 2062 day Wednesday.
(i) Sold to Bhupendra Kumar : 20 Dhoti Jode Rs. 100 per Joda, Lattha

20 metres, Rs. 30 per metre.

(ii) Sold to Raghvendra Kumar : 30 metres. Tericot, Rs. 40 per metre.
40 metres Malmal Rs, 50 per metre.

218 (Or)
e SE-EE S AU FE-Em T ¥ HE w" 3 s

Give any five differences between Indian system of Accounts and English system

of Accounts.

7—12—M—157A1
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(99

sen Tafoee 100 . AW 2,000, 12% FOA-A S T FEAT B TR S EEL
At i, Atz Hu-TE T g W e U g o aeOm W EE S
Asha Ltd. issued 2,000, 129 debentures for Hs. 100 each. make J ournal Entries
in the books of the company. 1f Dehentures are issued at par and received the

arpount:

H4gEr (Or)

What are Convertible and Unconvertible Debentures ?

1 g, 2004 1 TF 49 T Fdfeied HEF 8,100 T & | e g 10% WG Sl
WWWWWMM%um@q:mquﬂmﬂﬁqﬁﬁfﬁ
B u%m“ﬁﬁ?gmamﬁﬁﬂﬁmﬁ“ﬁﬁﬁﬁwmﬁzﬁ1mﬁ, 2002
aaﬁ?mmTwmzcmaﬂﬁaammnﬁmaﬂﬁm 6
The written down value of a plant on 1st January, 2004 is Rs. 8,100. Depreciation
was written off at the rate of 10% annual by Diminishing Balance method.
At the end of the current yvear, depreciation rate was decided to be 12% by
Fixed Instalment method. The above mentioned plant was purchased on
et January, 2002 make the plant account for the year 2004 and ealculation of
Depreciation,

33eaT (Or)
qﬂmﬁrm?ﬁwﬂﬁaﬁmlﬁﬂﬁﬁ:}

Explain the causes of origin of Depreciation. (Any gix)

mﬁmﬁﬁiﬁﬁnﬁﬁﬁmaaﬁmﬁﬁmmmfm | TeerEl A AEEd F
3x,uﬁﬁwﬁ1&mﬁﬁﬂmﬁmiﬁ3ﬁﬁﬁ§mﬁnﬂﬁmm?ﬂ%ﬁ4z Pl
3Wﬁﬁwhia-3iﬂﬁ£§\ﬁﬁm¥,ﬁﬂ#mqﬁﬂﬁ:ﬁﬂﬁﬁﬂﬁﬁﬁ.
T |

TR ] T S ¥ sl % oww ud TR =7 =1 wfatedl Hife &

7—12—M—157A1 | 50%d L 6
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A

Vinayak Ltd. forfeited 50 Shares of Rs. 10 each held by Pallavi for non--payment
of allotment money Rs. 3 per share and Final call of Rs. 4 per share. She has

paid the application money of Rs. 3 per share. These shares were re-issued Lo
Bittu for its face value Rs. 10 each.

Give the Journal Entries for the forfeiture and re-issue of shares in the books

of the Company.
9= (Or)
uF wE F faes (Tuls fawe) 4 ofve wa #1 FE oW 99 51 FHERT

Explain any three items of Liability side of a Company’s Balance Sheet.

7Z—12—NM—15TA1 26,667
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BOOK-KEEPING & ACCOUNTANCY
{Hindi & English Versions)

Time : 3 Hours

Maximum Marks ; 100

T4l g3 @ ¥

U39 ®HIE 17, 8, 23, 24, 27, 28, 29 W8 30 ¥ e fEwew fowom £
9¥H FOE 1 H A0 9F 9% 99 & o wE-HE 30 e E

¥ wmHi% 11 H 18 7% TS 799§ [ou 9=-9H 50 7= B

YYH FEE 19 § 24 7% T 999 § (60 U=-9m 75 7= E

UvH HHI® 25 9 28 9% Wodd 999 & (ol TEE-HIM 120 U= B

T3 FHIE 29 UH 30 § Fw W9 @ (90 VE-HW 150 T £
SAFEF WYA] & o0 Y=-WiE R 899 98 2

TodE W9 % 2% ST 94 feg M2

Instructions :

(1)
(2)
{3)
(4)

(5)
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All gquestions are compulsory,

Question Noes. 17, 18, 23, 24, 27, 28, 28 and 30 have Internal options.
Word limit 30 for Question Nos. 1 to 10 each.

Word limit 50 for Question Nes. 11 to 18 each.

Word limit 75 for Question Nos. 19 to 24 each.
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. T T TUITET = EFTE’ a1 379 EEE

- S THA R W R 9 o@ 96 e w22

(2
16) Word limit 120 for Question Nos. 25 to 28 each.
(7). Word limit 150 for Question Nos..29 and 30 each,
(8) No limits for Practical problems.

(8) Marks have been indicated against each question.

Ped

Give any two demerits of Fixed Instalment method.

W“?ETW'EJTW? 9

What do you mean by Consignment 7

U T 5= e w e g7

Ted

What is written in ‘Peta” ?

- W UEE 9E T ey £7 2

What is Kachchi Rokad Bahi 7

?wvwwmwmmc ﬁ-rﬁaﬂ—:rzﬁq-:‘ﬁmqﬁqnmr Hitrwm
ni’ﬂﬁﬁﬂﬁaﬂm‘ﬂ“—r«.mﬁmw 5

The cost price of goods sent on consignment iz Rs. 40,000, but invoice price
is 10% above than cost. What will be the invoice price of the goods sent on
consignment ? '

WWWMW 5= S TS WO TE £ % 8 = AT 2

Why do non-trading concerns maintain thejr Accounts on Cash system ? Give
any two reasons,

WIH-9TaE = TEI-TrT-lT-‘TH?'_FH‘_r‘Tﬂ#T*

(o}

What items are shown in Receipts and Payments Account ?

o2

What types of transactions are not recorded in Jama Nakal Bahi ?

Z—12—M—157B1
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1.

13.

T4

(31

et eI 9gfa 3¢ muEmEng 2
Explain the meaning of Fluctuating Capital method.

Bud

What is Share-certificate ?

ﬂta'mmﬁﬁmmmﬁﬁ—m?ﬁqwmfaﬁm g1 2
(9
(%) w3 7=

(T) 95 |

Laa

What method can be applied on depreciation for following assets 7
tal Furniture
(b1 Plant and Machinery

(¢} Building.

. WE-=19 gl =59 999 -t awi = s § e e ? : 3

What points should be kept in mind while preparing Income and Expenditure
Account, ?

YT SRR H FE-%0 3 @ = 99 2 (FE| ) 3

What accounts are opened in the consignment transactions ? (only names)

IR H A AR I AR F A v A = 80 A #1000 % U AT FF =0 A
yiva fme ) gwoft 5 1,500 = WiH W2 F W 60 W2 T2 99 997 2.000 T, uta ¥2 =)
Wﬁ?ﬂﬂ?ﬁﬂﬁﬁlﬁ?%‘ﬁﬂﬂ:ﬂﬁtﬂ{m}ﬁmﬁ? Tfeng 599 I9W Ty
R &= wmar ® ) wHwE = v st 3

Shri Ramchandra of Indore consigned 80 T.V. sets @ Rs. 1,000 each to Shri Kishan
Lal of Dhar. The consignee sold 60 sets on cash @ Rs. 1,500 each and 20 sets
on Credit @ Rs. 2,000 each. He gets 9% general commission and 5% del-cradere
commission on Credit sale. Calculate Commission.

7—12—M—157B1 P.T.0.
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17.

18.

(49

. 99 2000 ¥ 8,000 ® =9 = qE T3 @) 37 TEmm j990 =y TeHEE =7y

1,000 7. 3R 3 fafa w7 s =9 00 % 4| 31 femmm, 2000 ) sem mu
2,000 ¥, U9 4dew =29 1,100 %, 9|

HAE-273 =@ ﬁ‘maﬁﬁ—ﬁm’ﬁfmmﬁﬁaﬁmf? 3

In the year 2000 Expenses RBs. 8,000 were paid. On 31st December, 1999,
prepaid expenses were Rs. 1.000 and outstanding expenses were Rs. 900, Op
31st Decemher, 2000 outstanding expenses were Rs, 2,000 and prepaid expenses
were Rs. 1,100,

Show how much amount of expenses will be transferred to Income and Fxpenditure
Account ?

aﬂqﬁmﬁﬂ%?mmwwﬁ?ﬂmmmﬁﬂumi 3
Explain the method of valuation of Goodwill on the basis of Average Super

Profit.

HE WS FEEA T 10 7. A 5,000 THA H9 w5 frvifam T | ST W i e

+ A9 7 = =ifen ) mai ﬁﬁﬁﬁmmwﬁﬁﬂﬁﬁmﬂﬁmﬂaﬁgm
& T |

FIAT F TF:A _—Tﬁqumﬂ'ﬁwm| 3

Mehta and Company issued 5.000 Equity shares of Rs. 10 each. Full amount of
these shares will be paid in application. All these shares were taken up and
paid by the public.

Pass the necessary Journal Entries in the books of the Company.

HALIET (Or)
What iz Calls in Advance ?
1 =EA, 2006 w1 Wi UH =ifa mEw: 50,000 . s 40,000 & F ol =ET
m%mﬁﬁ?ﬁﬁﬁwﬁ%‘rsmcaﬁﬁmﬁwmaﬁaﬂ—c—ﬁﬂ 6,300 % ¥ |
F@Eﬂﬁ'ﬂﬂ%ﬁﬁﬁ?ﬂmﬁﬁﬁm—ﬁﬁ?ﬁﬂml 3

Z—12—M—157B1
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On 1st January, 2006 Preeti’ and ‘Jyoti’ are partners employing capital of
Rs. 50,000 and 40,000 respectively. On the same day Preeti gave a loan to the
firm of Rs. 5.,000. The profit of that yvear is Rs. 6,300.

In the absence of Partnership agreement prepare Profit and Loss Account.

HYET (Or)

YHERA = 8 e S 87

Why is Revaluation Aceount opened ?

At 0 W HEAW Ve R iws A A AEw I § HEY 2082 TEAN TEAE
6 #TE, 2005 I 12,000 . 97| #5538 WFR § 4

g | 1,000 F HF THem WY F 1,800 T OF UE A= VAW F AT THE
1,200 ®. | wHYH = 6@ 500 ¥.1 =/ &€ 2,000 % |

&=l IFE T8l F9Ee |

The Rokad Bahi balance in Miti Shravan 8. Samvat, 2062 Thursday dated 6th
Aungust, 2005 was Rs. 12,000 of Shri Omprakash Sita Ram Bansal following
were his other transactions :

Received a cheque of Rs. 1,000 from Sanjay. Seld goods to Madhu for
Rs. 1.800. Paid Salary Rs. 1.200 to Shyam. Received Commission Rs. 500. Bought
an iron safe for Rs. 2.000.

Prepare the Kachchi Rokad Bahi.

. TEF HEET A 20,000 ® F UE 4y @i 10% 3 =9 =7 2 ¥ 3y sfafes w0 w

e A T W S F uveEm, 39 499 % S 9 4
()= forva 9gin gm0, a9

(9) 9=d T2 ¥ F1 Ygia 71 sensg|

WA (GEEg) J@n fEeesn)

A Company purchased a mechinery for Rs. 20,000. It was decided to depreciate
the machinery at the rate of 10% per annum. Show the Book-value of the
machinery after three vears by using :

(a) Fixed Instalment method. and

(b) Diminishing Balance method.
Show by means of Tabular Ledger Account.

i—12—M—157B1 UL
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21. [THEAFA T T wamE s i
() 79 % geg & w691 7% W
(ii) =g & =ga 92
Give Journal Entries for Revaluation -
1) Being Aszets price decreased,

tii] Being Liabilities increased.

22. = =msl | T HIEHEE HH H HaE TET HT TFar 2 7 4

What conditions can a partoer retire from a partnership firm.

23. ISt fafaze 7 100 5 99 8%, 9,000 BUTT 10% T W e feu @@ w
40 %, UH I Eed W oTE 4
FEA] WWH:WWWWJHMW‘quWﬁ
L % | . 4
Ujjainina Limited issued 9,000, 8%. Debentures of Rs. 100 each at a discount
ol 10%. Payble Rs. 40 on application and the bhalance on allotment.

Pass Journal Entries in the books of the Company. All the amount were duly
received.

HGET (Or)
HI-TA *F YFEE & AW foiEn) (FE =7)
Name the types of Debentures. (Any four)

24, ﬁsﬂﬁhﬁwwtﬁﬁﬁm%ﬁﬁmm.zﬂ@sﬁwé T 99199 F09 =1
=g T, 592 s fufy =g s o

[EEEAE 3,000 %= 4,000
HAES 999 3,700 fsfay g=ieal 30,000
TE9 F Wy 3,200
W 12,000
L 12,000 24,000
34,000 34,000

Z—12—M—157B1
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(7)
ey g=fea 20,600 7 F S5t 0 A 547 600 T TUI TYET @ wET 4

Suresh and Mahesh are partners in a firm. They decided to dissolve the partnership
on 31st December, 2005. Their financial position was as follows ;

Liabilities Rs. Assets R=.
Creditors 3,000 Cash 4,000
General Reserve 3,700 Sundry Assets 30,000
Mahesh's Loan 3,300

Capital Afe
Suresh 12,000
Mahesh 12,000 24 000

—_—

34.000 ' 34,000

Sundry Assets were sold for Bs. 20,600. Expenses of realisation amounted Lo
Rs. 600. Prepare Realisation Account.

HAGET (Or)

When and how is Realisation Account prepared ?

ry

WITH-FTaM ET U - mn A e FIAT| (FTF 975)

Distinguish between Receipts and Payments Account and Income and Expenditure
Account, (Anvy five)

. ﬁ?%wﬁaﬂETs"ﬁ‘—lm%aaﬁm,mnamwﬁwmﬁ.ﬁqmmaa Bl

& T G ¥ 200 = AR TG T THW | FHT W A 20,000 . F 99 fear o
WSasWﬁqaﬁ?ﬂ‘;ﬁmﬁ%rmmma

LN

Nagar of Ujjain send goods worth Rs. 10,000 on consignment to Namdes of
Ashta. He paid Rs. 400 for freight. Consignee paid Rs. 200 for carriage. He sold
the whole lot for Rs. 20,000, There are provision of 3% commission. Prepare
Consignment Account.,

Z—12—M—157B1 - BTLO.
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7. mwﬁﬁmw;mmﬁm

(i) THEE | 300 die FUST 10 F G frzr | 3519 T2 9% 75 F. GHEEMA 25 EEapEd

i 100 ¥ Ed & T

(i) TrepoEm § 200 Higt FIEI W15 F ot HizT | =6 9T WA F 150 F A AET

% 50 % TQd
—wirE S W1 SfAw Twa @gl A et :

Balakdas purchased the following goods :

(i1 Bought from Ramdas 300 metres cloth at Rs. 10 per metre. He charged on
this Rs. 75 for Bardana, Rs. 25 for wages snd Rs. 100 for commission

{Arhat)

(1i) Bought from Gokuldas 200 metres cloth at Rs. 15 per metre. He charged
on this Rs. 150 for commission (Arhat) and Rs. 50 for Bardana.

Record the above transactions in proper Nakal Bahi.

arerat (Or)
ﬁmﬂ'ﬁﬂﬁuﬁﬁ'ﬂ?ﬁ?ﬁﬂﬂmwﬁﬂ!
Distinguish between Jama Nakal Bahi and Nam Nakal Bahi.

28, Sfor fafes § 100 % I 3,000, 10% H-TA et T | FEE T T S

et ST, afe - 153 wiien T T B T E
sy U Wiaig il 5

o e e e A

Ishita Ltd. issued 3,000, 10% Debentures for Rs. 100 each. Make Journal Entries
i1 the books of the Company. if Debentures are issued at 15% premium and the

all amount received.
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HG4ET (Or)
viiea U9 HYNET WU-95 ° 997 S § ¢

What is meant by Redeemable and Non-redeemable Debentures ?

20. Frogi 3 forar fafwes % 10 % 579 1.000 39 ¥ fou odss wwm 591 emde ™
2 %, E=A W3 T, WG I 95, 3 %, 697 Tgard grS W 2 6. 9ie Hu wg v
AT AU AE=S F U Gh g 9, e 99E A= o atan om0 ot awl
| HET | #70: T9 91 9 =1 w0 51 @ T #7 3=% Te 8,500 ® ¥ qH: Fite
= Tedn|

FFE] Wi TEwI H S T, [ u s F Sha o Hija | 6
Tripathi applied for 1,000 shares of Rs. 10 each in Shivani Ltd. payvable as
Rs. 2 per share en application, Rs. 3 per share on allotment, Rs. 3 per share on
First call and Rs. 2 per share on Second call. He paid application and allotment
duly, but failed to pay First and Second ecall money, So, all the shares were
forfeited and re-issued the same for Rs. 8,500 for Cash.

Pass forfeited, reissue and transfer Entries in the books of the Company.
Hgar (Or)

TF FA F THeg (faafs famro) § o=ufs e # w1E 99 wel wmy wmEEn

Explain any three items of Assets side of a Company’s Balance Sheet.

30. 1 SEAL, 2004 F UF 49 W IWioES 999 8,100 . B T BRI 10% IHw wEA!
fryn-Tafa 3R g/ sfefes fen o 8 ) 9| a8 = = 8 59§ oy v ash

BRI 12% 1 BT A B1E AuleiiEd =3 51 v=9g T 3w 33 %51 1 5924, 2002 =1
wE ToE T 9

WA 2004 H TH G S9EC U8 VAT IS0 | 6
—12—M-—157B1 P.T.O.




(10 )

The written down value of a plant en 1st January, 2004 is Rs. 8,100. Depreciation:
wag written off at the rate of 10% annual by Diminishing Balance method,
At the end of the current year, depreciation rate was decided to be 12% by

Fixed Instalment method. The above mentioned plant was purchased on
1st January, 2002. Tl

Make the plant account for the vear 2004 and calculation of Depreciation.
HAGGT (Or)
Teq-B1H F S99 & wAW H FHAEL (FE F:)

Explain the causes of origin of Depreciation. (Any six)

Z—12—M—157B1 26,667
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M—157C1

BOOK-KEEPING & ACCOUNTANCY
(Hindi & English Versions)

Time : 3 Hours

Maximum Marks ; 100

(1) Ju 997 == £ |
(2) W93 FHiF 17, 18, 23, 24, 27, 28, 29 U§ 30 § 3=iF fawes 5 70 &
(3) 999 ®HF 1 F 10 5% 79w 9 5 fou g=-m 30 u= 3
(4) U9 FOIF 11 T 18 9% THT w39 5 (o s=-Fm 50 = £
(5) w94 #Hi= 19 9 24 7% 79= T F Hu w=-diE 75 U= 2
(6) WY HH® 25 H 28 7F Aodw 9vA & o yee-d 120 W B
(7) 999 A% 29 T8 30 9 ww 999 F fEw e 150 = 2
(8) =AEE= 999 & &0 =5 =1 995 727 2|
(9) W& U9 F % 395 T fzu mm ¥
Instruetions :
(1} All questions are compulsory.
(2} Question Nos. 17. 18, 23, 24, 27, 28, 29 and 30 have Internal options.
(3) Word limit 30 for Question Nos. 1 to 10 each.

(4) Word limit 50 for Question Nos. 11 to 18 each.
() Word limit 75 for Question Nos. 19 to 24 each.
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() Word limit 120 for Question Nos. 25 to 28 each.
(7) Word limit 150 for Question Nos. 29 and 30 each.
{8) No limits for Practical problems.

(9) Marks have been indicated against each question,

1. T fevd gonet %1 w9 fovmEe aasn) (#9390 2

Mention the main characteristics of Fized Instalment methed. (Any two)

5. TuU H IOy T W WY 9 WEE & 2

fed

What do you understand by ‘Abnormal Loss’ in consignment ?

3. ‘Taa’ =31 T 91 22 2
What is the writien is ‘Sira’ ?
4. @EAl TFA FET Hd FEd @ 7 2

What iz Khudra Nakal Bahi ?

Lri
)

. i Ygie | ow= oAwdE g7
What is meant by Cash system ?

6. WY T TN U WS F1 GWE 40,000 %. ¥, T diww oo @vd god § 10% AHH
T | Uftm A = e g ¥ R 2 2

The cost price of goods sent on consignment is Rs. 40,000, but invoice price
is 10% above than cost. What will be the invoice price of the goods sent on

consignment, 7

7. WA e w@E wowE 2 fEvea e

bied

Write any two features of Receipts and Payments Account ?

3. M TEe FEl ° ®E-FE 9 He 5 fTE 9w €7

fad

Which transactions are not recorded in Nam Nakal Bahi ?
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Tk

TR

14.

13.

. -2 faqw (TE=a) a9 = 82

{3)

[

What is Profit and Loss Appropriation Account ?

P

9 o R ?
What is Share 7
"HrgH @Y F farg wuETE A8 Afug =g wR T s i 3

“Depreciation is not an appropriation of Profit, but a charge against prefit’.

Explain.

U T s ey T S oy w999 fE-feT 96 w1 =9n wem Jifgu g 3

What points should be kept in mind while preparing the Final Balance Sheet
of a non-trading concern ?

= % o geamy F fasge 77 200 AfeEl, TS99 dtee 902 300 % wfa 08 @1, @
% 0. E= F1 957 5q 999 W 99| TEEE A4 39 9fe"r 400 = owf T @ =
H == 38 Al Hod YT 10% FHIYHE 997 | god 9 EfEHF 9T 20% FHYE GeE
7| FOE FHTOTUE] FHISE 3
Mr. Purshotam of Ujjain sent on consignment 200 boxes of biscuits at invoice
price of Rs. 300 each to Mr. Raghvendra of Ashta for sale. Mr. Raghvendra sold
all the boxes @ Rs. 400 each. he gets 10% commission on invoice price and 20%
commission on price in excess of inveice price. Calculate Commission.

U4 =ael B FR-F14 § @6 @ 96 2 7 (Fae T99) 3

Which accounis are opened in the Consignment transactions ? (only names)
Ha1 wfafa T=R F1 IFEd FEEEE § o 3

4 2005 H == ¥ 50,000 F. UH §U, 99 2004 FH FHMAT =1 2,000 %, o, 9 2005
1 FHTE1 WG 3,000 ¥, F9 2006 % = 94 2005 F 4,000 T AUH u@ 50| U
191 ITIE 50,000 € H wfEE £

aarey & == =1 fFah ufe =99 2005 & sm-=m G § faE] s
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(4]

The following is the information regarding Seva Samiti Pachore :

In the year 2005, received Rs. 50,000, from subscriptions. For the year 2004
subscription of Rs. 2,000 were in arrears, subsceriptions of Res. 3,000 are in
arrears for the vear 2005. Subscriptions of Rs. 4,000 of year 2006 were received
inn advance in 2005. This amount is included in above mentioned amount of
Rs. 50.000,

Show how much money of subcription will be transferred to Income and
Expenditure Account for the vear 2005.
FHaa Ageny & Y9Fd 903 F YR W Eng 1 T S0 & fE JHeEn ) 3

Explain the method of valuation of Goodwill on the basis of Capitalised value
ol Average Super-Profit.

. 9A fafizs 3 100 5. =/ 10,000, 12% EIESR HI =Fa1 & FAiHa 0 T O

UH q¥T UM F e | oA THALE H TR A w49 & ol &iad) 3
Jain Ltd. issued 10,000, 12% Preference shares of Rz. 100 each to the public.
All amount received in lump-sum.

Pass the necessary Journal Entries in the books of Jain Ltd.

HEgar (Or)

SETE 99T 769 Fed 27
What iz Calls in Arrears ?

1 SEdl, 2004 &1 ‘T dn ‘A’ AW e aEsia s @EEn ' A whun
20,000 % #HT 10,000 & =1 41 =W £ 1 31 3WEF 2004 =1 U= faw fod =9 =
AUz % ®H T 4,000 T | TG 2491 21 59 2004 F NYM-E19 @M 4,000 F. H
o9 B &, TR SEeR =W Us e19-TaWeE U W HeAd @l 2 5% |

=g Taaom = e 3

Chintoo and Montoo are partners without any agreement on 1st January, 2004
and they introduced Capital Rs. 20,000 and Rs. 10,000 respectively. On 31st
August, 2004 Chintoo advances to the firm Rs. 4,000 on lean. The Profit and

7—12—M—157C1




20.

f—

L5 )

Loss Account for the year 2004 shows Rs. 4,000, but the Partners are not
agreed upon the question of interest and division of Profit.

Prepare Profit and Loss Account.

eEt (Or)
g Y fEead AR e weR W fEEe e em Y

Amongst whom and on what basis the profit of Revaluation is distributed ?

1 AT 1 TEET B reiRa j9ee H E= %S 8 a2 : 4

5,000 % THET I 9| T W 700 E F1 R F=11 100 F. AmeU F AU W A
600 & = AT WhE R IR 100 T TR YEE RO SEH FEET W 1,000 FOH
EEREE

From the following particulars prepare Kachchi Rokar Bahi of Shri Bairagl
Cash balance was Rs. 5,000. Goods sold to Rani for Rs. 700. Paid for wages

Rs. 100. Goods purchased from Suresh for Rs. 600 and paid to him Cash Rs, 100.
Received a cheque from Laxmi Narayan of Rs. 1,000,

"{l_’F{E"fTI‘?r‘F! ?_:1_ Tee wiatEal HiTan i
(i) ¥ % 7 § gig 81 W

(i) FER H FH B 9

Give Journal Entries for Revaluation :
(i) Being appreciation in the value of Machinery

(ii) Being decreased Creditors.

-~

. W O A 20,000 T H TS 99 =11 10% WA 96 F X § B gUeEs w99 A1

Ho=g T ) 919 94§ 99ER 59 99 W s 0o 4
( 31) Tl ohva 9504 g0 990

(9) F20 U 919 =l GGi0 GRG0l |

wofg (qeEs gx fegmEn)
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A Company purchased a mechinery for Rs. 20,000. Tt was decided to depreciate
the machinery at the rate of 10% per annum. Show the Book-value of the
machinery after three yvears by using :

() Fixed Instalment method and

(h) Diminishing Balance method.

show by means of Tabular Ledger Account.

He § gHIET 4
How is the amount payable to an outgoing partner calculated ? Explain in
brief.

ga fafies 3 100 7. 319 5,000, 10% WOI-TR 5% wAGT W HIHT FRTI T W 30 5
HAEE] T TE YW WE=9 91 29 91

Pl Tl [l A AEYEE UGSl FiseE mieg | Fited SEe T 21 M 5 4

Poonam Ltd. issued 5,000, 10%. Debentures of Rs. 100 each at a discount of 5%
payable Rs. 30 on application and the balance on allotment.

Pass the necessary Journal Entries in the books of the Company. Appropriate
amount are received.

HYgT (Or)
FO-UF A OATE N OAWE F 7 mO-w w53 ow g #0

What do you mean by Debentures ? When can debentures be issued ?

l.qra:j:r{l.?‘ﬁuaﬂﬁ i n_‘._,'%_ﬁ:[%rqé? ; %::

EE il =Y 10,000
A 10,000 L 11,500
B 7,000 17,000 =2 2,500

TR 3,000

‘' = /W 4,000
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=4 W F fFeds =1 i o s 2 5991 38 TR %6
TR 92 % o9 H 10% A, SHR01 H 9,200 F., el w1 10% I HE T OYIAH
foh T fasEd =99 500 . 9

FHEAT WA FAE | 4
Below is the Balance Sheet of ‘A’ and ‘B" who share Profits and Losses
equally :
Libilities Rs. Assets Rs.
Capital Ale Stock 10,000

A 10,000 Debtors 11.500

B 7.000 17,000 Cash 2.500
Creditors 3,000
A's Loan 4.000

24 000 24 000

Thev decided to dissclve the firm. Assets are realised as follows :

Stock 10% less than value, Debtors Rs. 9,200, the Creditors were paid off at a

discount of 10%. Dissolution expenses amounted to Rs. 5300.

Prepare Realisation Account.
HAg=n (Or)
AT BN HIEEE BH ¥ HEITE H wE = 29 ferEn |

Write any four circumstances to dissolve the partnership firm by the Court.,

25. T[EAETS % gEa A TS AR F S $1 250 TEG @9 75 T WiG o, S w0 7 25%
i §, diew geg W 991 56 7 450 T 99N W 2 & 0| 19U T /e T
79 25,000 % | 99 S€ 3R 530 €. (9563 =9 T01 3951 FHEE 5% T 9y FHwe
2.5% B

== H1 diedl § W90 T  9Eg |

Lo |
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{ &)

Basant of Gulabganj consigned to Soni of Ganj Basoda, 250 table lamps invoiced
at Rs. 75 each, which was 25% above the cost price. Basant paid Es. 450 for
expenses on consignment. The consignee sold all the table lamps for Rs. 25,000,
the selling expenses thereon being R<. 530. Their commission was 5% and 2.5%
del-credere commisson on total sales.

Prepare Consignment Account in the books of Basant.

qife-yraE =W UE HE-5EE T A wE) (FE 9E) 5

Distinguish between Receipts and Payments Account and Income and Expenditure
Account. (Any five!

47 39 ggd "WETE | S i mE 2, Ha, 2061 WiHAT A 18 foeeae, 2004 &1

= e SUE 99 5

{i;ﬁnﬂaﬁéﬁ:ﬁﬁmﬁéﬁaaanﬁuﬁrﬁmlﬁﬁ 50 F AWM .
30 % el WEl w20 % Tl & @l

cii}a?ﬁmaﬁréa}:ﬁiza‘ﬁfz—uima:wm%.uﬁfﬁzwaﬁ‘%muaﬁmﬁ%
Ao 2 T8 FwE uHiEl F @0

i TOE F SrEd aFd 36 T farEn

Shri Jain Brothers Sarangpur sold the following goods on Credit on Kartik
Badi 2. Samvat 2061, Monday Dated 18th Septemhber, 2004 :

(i) Sold to Shri Ram : Wheat 10 Quintals at Rs. 600 per Quintal. He charged
Rs. 50 for Bardana. Rs. 30 for cartage and Rs. 20 for Hammali.

(ii) Sold to Rahim : Wheat 20 Quintals at Rs. 1,000 per Quintal. He charged
Rs. 100 for Bardana and Dharmada 2 paise percent.

Record the above transactions in proper Nakal Bahi.
Hgdr (Or)

Write the names of main books of Original Records of Indian system of Accountancy.
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Fir fAfaeE 3 100 F. =@ 4,000, 13% FO-94 fifam fru) O W T A SR
wfgfea] witen, FfE -7 maaa‘gﬂ?ﬁfﬁﬁammﬁﬁnwﬁmﬁl 5
Kanti Ltd. issued 4,000, 13% debentures for Rs. 100 each. Make Journal Entries

in the hooks of the company. if Debentures are issued at 10% discount and
received the amount.

Far (Or)
i fofaee 7 ©F =HEEd ﬁz.za.emaﬁmM|mq@m§mﬂmﬂﬁmﬁ
1u¢am—nﬂﬁﬂﬁﬁmm1$mﬂaﬁgﬁﬁfﬁﬁgﬁﬁaﬁm|

Anju Ltd. purchased a businss for Rs. 2.20,000. Purchase price was pa id by 10%
Debentures of Rs. 100 each. Pass the J ournal Entries in the books of the Comapny.

T S, 2004 F1 TH 4% = AYCEd G0 3100 . ¥ | TEAT EAT 10% FfHE AL

WEWWEWLW)WMW%*[E@EE?ﬂ T W oHEe 5 Tl
ﬁmﬂﬁﬁrmu%ﬁﬁﬁmmﬁdﬁaﬁmﬁ%ﬂﬁmfﬂ|

TafE F9 W 1 ST, 2002 F WA A o7 | T 2004 1 T @1 FEE TE Tl
HITHU | &
The written down value of 2 plant on 1st January, 2004 is Rs. 8,100. Depreciation
was written off at the rate of 10% annual by Diminishing Balance method.
At the end of the current year, depreciation rate was decided to be 12% hy
Fixed Instalment method. The above mentioned plant was purchased on

1st January, 2002. Make the Plant Account for the year 2004 and calculation
of Depreciation.

31941 (Or)
oo BT F I B FRO F FEEEY (FE T

Explain the causes of origin of Depreciation. (Any six)

. AR S v TEfes ¥ 10 T I 2,000 #E & fow EET wEE HA SAEERT W

5 % WE=H U 3 F. WHW TEAl W 3 % oY Bud I T 2 . Wia 309 97 ¥ EE
mﬁaﬁﬁmmﬁnﬁﬂﬁ@ﬁ.ﬁﬁﬁwwﬁm-ﬂ%ﬂmﬁwﬁ' GEdl
<1 T | A IHE HL ST =7 T F o T SR FIE 19,000 ® H g FHITH
e

Sl H e 8 -, T Td T F W@ F od i &
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Sagar applied for 2000 Shares of Rs. 10 each in Harsha Ltd. payvable as Rs. 2
per share on applieation, Rs. 3 per share on allotment, Rs. 3 per share on Tirst
call and Rs. 2 per share on Second call. He paid application and allotment duly,
but failed to pay First and Second call money. So all the shares were forfeited
and re-issued the same for Rs. 19.000 for Cash.

Pass forfeited, re-issue and transfer Entries in the books of the Company.

FHaar (Or)

T & Tz (Feufs famon) & frifafas =2 57 o fee 9o 9iis & ata
wEivE =7

() g=it H=g

(i1) 9t fagx

(iii) 9=4

(iv) Tafay gm=m

(v) Tafgg @+ gn

{vi) SBU-93 |

Under which headings will you show the following items in the Balance Sheet
of a Company ?

(1) Capital Reserve

(11) Bills Receivable

(iii) Building

(iv) Sundry Debtors

(v) Sundry Creditors

{vi) Debentures.
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